Slug51: Corrected RMS (ppm): asym_usr
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(PPM)

Lagrange Corrections Width (ppm) by Eigenvectors
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Slope (ppm/um)

Slug51: Slope : usr_vs_evMonO (ppm/um) Idit_slope] - reg_slope (ppm/um)
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Slope (ppm/um)

Slug51: Slope : usr_vs_evMonl (ppm/um) Idit_slope] - freg_slope{ (ppm/um)

- r htemp
- 1 I -@- Regression 4 [ 1
- . . r Entries 51
L 1 1 35 L
B -@-Lagrange 3 Mean 0.1893
| 1 1 N
S ' | Std Dev 0.5749
1 | [
. 1 1 i
* 251
O 1 1 [
L— 1 [
- 2
[ 1 1 N
L 1 1 [
— 15
[ 1 1 [
L 1 1 [
O 1 1 1
L

0.5

1111 L | o

-05 0 0.5 1 15 2 25

<
un Number bs(mini_eig6bpm.usr_evMon1) ) /(ppm/um)

4258 FF F
4259 |— - -
4260 f— - - >
4267 |— - -
4268 |— -
4269 [— -
7o = - . =



Slope (ppm/um)

Slug51: Slope : usr_vs_evMon2 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)
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Slope (ppm/um)

Slug51: Slope : usr_vs_evMon3 (ppm/um) ldit_slope| - |reg_slope| (ppm/um)
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Slope (ppm/um)

Slug51: Slope : usr_vs_evMon4 (ppm/um) Idit_slope] - reg_siope] (ppm/um)
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Slope (ppm/um)
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Slug51: Slope : usr_vs_evMon5 (ppm/um)

|dit_slope| - |reg_slope| (ppm/um)
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